g.94

S.N When the pump shown in Fig. P8.94 adds 0.2 horsepower to
the flowing water, the pressures indicated by the two gages are

equal. Determine the flowrate,

Length of pipe between gages = 60 fi

Pipe diameter = 0.1 ft

Pipe friction factor = 0,03

Filter loss coefficient = 12

PB.94

BFIGUR

B Rk B A

= 23, Z,=2., V=V5

, hp =
/0
T/;c Pump aob’s 0.2 hp a‘/ﬂowfsf
W= Oa?/afx F@Jg = Jjo ﬁ‘jé
Lhp

(1)

Convert to /)&aal éy

b = wbh% . n
-
5(.{43 /nte 0) )z.

_j_é (fé'i-ék (f +£)<:.) =7

x & _:(jjé:;j‘ii)é)l' where A=T(0.1/)% =7 350"
Y L
_ 176 (644) (755%6)°
(0.03 8% 1 13)
Q? = 2.328% /0¥

Q = 0.06/5 A5

8-87



